PRUS: PreCaleutus Honors Swamier Review Name

PARK RIDGE HIGH SCHOOL
PreCalculus Honors

Summer Pre-View Packet

The problems in this packet arce designed to help you review topics from previous mathenadies cowrses thal are
important 10 your sueeess in PreCalenlus Honors

Show wll work that leads you 1o cach solution on sepurale sheets of paper. You may use your notes from
previous mathematics comrses to help you.  You may use a caleulator for all problems, unless otherwise
indicated,

ENJOY YOUR SUMMER!
Keferenee fuformation

. ) ~bh# [)2 - e
Quadratic Formula: Given vt abyre=0,then x=- Vo e

2a
Factoring:  a' 44" = (a+ h](a’ ~abh ) -0 (a --ab](n" 3 ab+ J)’)
S IR Lal)) {‘ LR
Laws of Exponents:  (@") = 4d” e (aby? = 0"
o
aY L » e
e a’t=— ar =N a“cr(('fu)
b I o
Forms of Equations of Lines:
General ( Standard Y Form: Ax+ By =( Slope-Intercept Form; p=myt+h
Point - Slope Form: S = iy e x)
Vertical Line: X=ua Horizontal Line: y=»h

Distance Formula (gives points (x, ypyamd (v, y)0 d = \/(.r, -a.\';)") +{n - yz)g

Midpoint Formula (given points (o, ) and {e, d) ) M(E‘-‘;---‘.-.b';d)

Changing between Logarithmie and Expanential Forin: y=log, () i 6 ax

Basiv Properties of Logavithms:  log, 1=0 oy, bl logy b =y Bt ¥ = g
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Properties of Logavithms:  Product Rule: fogy, (KS)=log, R tlog, S

K ,
Quotiont Rule; togy, Ky = log, R -logy S

Power Rule:  logy, B =clog, R

Imapinary Nombuers! j = 1 it et

Complex Number written in Standard Formy a1 bi

Propertics uf Absolute Value: b= 0 -} == leat = laffo) ’? = !ﬂ
A
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SHOW ALL WORK ON A SEPARATE SHEET OF PAPER,
Unless otherwise speetfied, If w decimal approximation Is used,

it must be accurate to three places after fhe decimal point,

Simplify ciels expression.

1. J-100 2. J-4.-9 3. (7Y
4. Vax ety afayt Cs @ ST 6. A1)
7. (34 20 (3 - 20) 8 (anfsy 9, :%

10, -J9 1. (-2+429)(6+-25)

Factor each polynontin) complefely.
12, 1t d 2t 3, 8xtod
4., 6xi-Tx-3 15, x -l ody48

Stmplity ¢ach expresston,

16, (SxH') 17. (2%’
‘ 10e2°

8. He"? o, orE
) ) gy ]

Solve each quadratic equation,

20, (x-DYx+3)=0 2. x(yv-4y=2(4-x)

2. X edxe= 3 23, 2t -3

Graph the funetions using a table of values, synimetry, rationat zeve theoreny, or other propertics of
palynomials to plot pelints, Verify the graph whh the eateulator. Deseribe the follewing charaeferistles
for enclt funetion:

s demain angd ringe b zeros e, y-infereept d. end helmvior

e intervals where the function is ineveasing snd/or decreasing
24, f(x)= PR I 25, e{x) = X 2xad 26. )= !.\‘ + 3’ 4

o 3



PRHS: PreCuleudus Honors Swmmer Review Name

Given f{x)= o —dand gy - J2x i 4, determine each of the following,
27. FIE)] 28. S0, whenx = ? 29, S

0. (e()) 3L Domainof f{g(x) 2 W

13, Is the inverse of f{x) s function? Hnol, how could the domain o J{xybe restricted to make its inverse
 function?

Simplify each and write your answer as a single fraction, State any restrictions on the variabie,

s - 2
W ?.\ 25 3, X7 - 5x ib’ X4 3xa2
X4 7x+10 B R S
. - . .
36, A, S 37 2 X
R IAR B Lt N3 x43
Solve euel cquation fory.
5
38 Ty 6x =10 39, 11 y-Txe l,)

Find the solation(s) of (he given systems of equations, Write answers in the form (x, y).

—2x =Sy Yy 0p=2
40, Yo _7 41, 4y 19
Tty R vyt

3 Soud v N : : Iy ]
Solve for (he missing side of the trinngle using the Pythagorean Theorem, at+bi=¢l,

A2 o 6L b = B,

43, b o= 170,¢ - 190N

Solve for x und y using w 45-45-90 (eatio of sides 101 JE) o i 30-60-90 trianple (atio of sides 1132y,
dd, 45, 40, N
4 -

'f\[."i'cm
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Given the vight trlangle, determine the trigonemeirie ratios,

47, sity 1
4%, tan A
51, cos it

48, cos 4
50. sif}
52, un i3

Else 1rig ratios {0 solve for x and y (o the neavest thousandthy in encho right iviangle,

54,

P

Lvaluate each logarithmic exprression withou! a caleuluior,

}
¢

55. S6. log.0! 57.

Sulve cach equation oy incquality,

59 Py-1+3=6 60, v+ 46

~

1

2

58, log, 25

fop E
3 ‘9

61, 2 -3a-2<10

Find an cquation in lope intereept form for the line deseribed

62, The linc thvough { 3, -2 ) with slope m = 4/

03, The line through the points (-1, -4 Jand (3, 2)

G, The line through { -2, 4 Ywithaslopem -~ 0

65, The line theough ( 2, -3 Y and paralied to the line 2x + 5y = 3

66.  The ting through ( 2, -3 Yand perpendicular to the Hne 2x + 5y =3

Find the distanee between the o peinfs, The find the midpoint of the segment joiniug the two polnts,

67, ('4§ '3)) (Es i)



COMPLETE THe THBee,!

rd

] sin 6 cosf | tanf | sect cscf cot

0°

45° |

‘. o

"~ 120°

1350






